A & ol & AF & Ml A
20228 = 20l& =AM
g 200 Mel+=¢
2 210 ZHEAA+Y
g 212 B2 (Sl &&)
Z2-2-8-5 Oll &F o & E Ol At Hns2
E5 Al 2,747,376 3,384,883 A 637,507
200 M2l +=¢ 1,972,110 1,884,883 87,227
210 & HAN 2= 1,933,790 1,836,063 97,727
212 AHBE ¢ 1,920,990 1,822,663 98,327
212-04 &= AIEZ 1,920,990 1,822,663 98,327
< Mot MNP A > 1,920,990 1,822,663 98,327
ONEE AE8=2(7,9598) 969,473
— 1 Al 2 4203 x88,436m x 122 445,717
— 28 AEZ 510& »47,221m =128 288,992
— 3 AIEEZ 630& x11,376m « 122 86,002
— 4G ALEE 800& x4,042m » 128 38,803
— 58 AIEZ 1,080& *1,733m «12& 22,459
— 6 AIEZ 1,300& *5,609m" «12& 87,500
Og=2E MBE(7048) 369,237
— 1 Al 2 590& 8,097 m x 128 57,326
— 28 At 2 720& *4,849m x 12 41,895
— 3 A2 890 x3,786m x 128 40,434
— 4G ALE 2 1,150& +5,813m" «12& 80,219
— 5 ALEE 1,510&%8,243m »12& 149,363
OZYE ANB=(929¢) 477,223
— 1 AL 2 760& x17,238m x 122 157,210
— 28 Al 2 900& 5,587 m x12& 60,339
— 3 A2 1,130& «5,683m «12& 77,061
— 4G ALEE 1,450& 10,495m «12& 182,613
O=2gs AMEBE(8H) 20,660
— 1 Al 2 760 x548m x 12& 4,997
— 28 At Z 900& »100m = 12& 1,080
— 3 AIERZ 1, 130& x200m" » 12 2,712
— 4G ALEE 1,440& «687m 128 11,871
O7Rgdg HHRF(96058) 84,397
— 13m/m 550 +9,053& « 128 59,749
— 20m/m 1,530& #2458 128 4,498
— 25m/m 2,460 x1818 12 5,343
—32m/m 4,370 428 <128 2,202




200 Al2l=+=¢
210 o HAM A=
212 B2 ¢

09 i 0

Z-#-8-2 0l &t o 0 ot o HZE2
— 40m/m 7,3703 438 «128 3,802
— 50m/m 11,300& »298 x 123 3,932
— 75m/m 27,3903 88«12 2,629
— 100m/m 46,7103 48~ 128 2,242
213 ===2¢ 1,800 2,400 A 600
213-05 JIEt==2 1,800 2,400 A 600
< MGt AN A > 1,800 2,400 A 600
Ox=2Y (4 6,000& «300H 1,800
216 Ol Xt==¢ 11,000 11,000 0
216-01 330 =0l A=+=g 11,000 11,000 0
< MGt AR A > 11,000 11,000 0
O=30=z= 0l Ar==¢ 11,000, 000& 11,000
220 SAEME = 2,000 2,000 0
224 Jlet=¢ 2,000 2,000 0
224-07 2=+ 2,000 2,000 0
< MGt A A > 2,000 2,000 0
OaA==Y 2,000,000& 2,000
230 RNILHHMIY - 203 36,320 46,820 210,500
236 &= 36,320 46,820 A 10,500
236-01 23 36,320 46,820 210,500
< Mot A A > 36,320 46,820 A 10,500
osg34+9 36,320
— 13m/m 70,0003 *300& 21,000
— 20m/m 140,000& 50H 7,000
— 25m/m 240,000& 20 M 4,800
— 32m/m 360,000& «3& 1,080
— 40m/m 360,000& «1& 360
— 50m/m 480,000& «1& 480
— 75m/m 1,600,000& 1M 1,600
700 Ed=ASTUEHN 775,266 1,500,000 AT24,734
710 Ed S 775,266 1,500,000 ANT24,734
711 0= 775,266 1,500,000 AT24,734
711-01 =MALAHZ 775,266 1,500,000 AT24,734
< Mot A A > 775,266 1,500,000 AT24,734
O=HNAHL = 775,266,000& 775,266




